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StudentName: __ ExamDate: __ ExamScore: ____
4, 118 x 10000 = 8,42 x 1000000 =
4,491 x 10 = 8,672 x 1000 =
10,428 x 10 = 6, 146 x 100000 =
5,204 x 1000000 = 8,096 x 100000 =
3,027 x 100 = 6, 838 x 100000 =
1, 672 x 100000 = 7,527 x 1000000 =
5,856 x 1000 = 10, 295 x 1000000 =
9,389 x 100 = 8,751 x 1000 =
7,907 x 1000000 = 10,401 x 100000 =
6, 152 x 100 = 3,161 x 1000 =
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StudentName: ExamDate: __ ExamScore: ____
4, 118 x 10000 = 41180 8,42 x 1000000 = 8420000
4,491 x 10 =44.91 8,672 x 1000 = 8672
10,428 x 10 = 104.28 6, 146 x 100000 = 614600
5,204 x 1000000 = 5204000 8,096 x 100000 = 809600
3,027 x 100 = 302.7 6, 838 x 100000 = 683800
1,672 x 100000 = 167200 7,527 x 1000000 = 7527000
5, 856 x 1000 = 5856 10,295 x 1000000 = 10295000
9,389 x 100 = 938.9 8,751 x 1000 = 8751
7,907 x 1000000 = 7907000 10,401 x 100000 = 1040100
6, 152 x 100 = 615.2 3,161 x 1000 = 3161
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